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) = (5.6.10) (9.10.13) 1Po|2A  |2(1.5.6.9.16) S HIE=2RI(9)
Stugs SYg SIESZEEDI | - HOIHZKHE |(5.6.13) xoess |- 1=d03(5.6)
(5.6.10.13) S(5.10) = 2RI(9) (1.5.6.9) 22(2)
THH =2 %1 (9) S 12t£01(9) - {8t AL A MK /O | - AFDE
THHLLRR(2) |- 1614 E>23(2) |- 10I01HERNE |AEE
(2) (1.2.5.6.10.15.16)
S 12ED((9)
o 2% | =ma
SRS . Hore dore dore =RE, =NE,
ez | 432 | g3
Ol 4 Xl (kcal ) 724.33 724.33 -1.7 671.8 650.8 718.0 828.2 690.4
EH43512(g) 54.8 72.8 95.2 941 116.3 105.1
SEESIE)) 18.92 18.92 18.9 45.9 31.2 33.3 29.5 26.4
Xl (g) 26.3 20.5 14.8 23.7 25.8 18.5
HIEF2IA(E RAE) | 162.05 229.13 124.8 130.7 114.9 128.6 78.7 171.2
El0F2! (mg) 0.31 0.37 0.6 0.9 0.6 0.7 0.3 0.4
212 =244 (ng) 0.36 0.43 0.5 0.5 0.6 0.6 0.3 0.6
HIEFRIC(ng) 24.87 31.72 38.8 12.0 29.9 101.8 23.8 26.6
22 (mg) 242 .25 290.31 291.2 326.6 302.4 441.8 97.9 287.4
&= (ng) 3.71 4.79 3.0 2.9 3.1 4.2 2.1 2.4
w oA = AAAAFZF £10%, AR BstE(55~65%) ¢ A (7~20%) ¢ A (15~30%)
x 1g% oYX (kcal)& ©r3E 4, @ld 4, x4 9kcal 2 4t
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AR 14,55, 15,917, 16.437], 17.9.40], 18. 2/MF(F, AE, T %3), 19.%
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03g 252 (¥) 032 262 (3h) 03g 272 (%) 038 282 (=) 038 292 (2)
- 1F el C1ABAXSSE 1= - THES00/H1Y 1&=28H(5)
1S 2RH (1.2.5.6.9.10.13.1| - 122XSHE 2+(5.6.10.13) - 1& X2 X0
(1.5.6.9.10.13) 5.16.18) (9.10) < 10ILID2F0D X [(5.9.16.18)
I E2LUS2RE | - 128 LsSe/ Y 1ZX0IL/MEHE|*(1.2.5.6.13) AR BUSEM
(XH2)(5) S (XE)(5.6) ) SIHOIHASEEZ |(5.9.10)
S HALE 2 S c1RES32 (1.2.5.6.10.13.15. [ (5.6.9) 10lLeI =2 & (Xt
=2t (2.5.6.10.12.13.15((1.2.5.6.9.13) 16.18) SR/ e E £)(5.6.13.18)
St 2 Al goras .16) CAZRZREEN(KH] - 1012 EREM [(XH8)(5.6) 1070 EFAH
AKX DIIHAT | E)(5.6) HE(XE 12T (XHE)(9) (012
01(10) 12 M E )(1.2.5.6.9.12.13) | - 1HI2t=2t0I(1.5) [(1.2.5.6.10.12.13.
<182 X1(9) (12.13) - 12 X192+ 320l - 10tEol=A 15.16)
101 2(2) - 12DJ|FACIOF [(2.5.6.12.13.16.18 <12 ED((9)
1S /ME(R [(1.2.5.6.10.12.13. ) CNENEFA
£)(5.6) 16) 12=01(9) (12.13)
< 12EI((9) 1A E0L0I A
CAMER(2) 32(1.2.5)
=R 2 e
%A ojorer o oras of okt o oret o ota
°° ey | 43y | g
OILIXI(keal) | 724.33 | 724.33 4.6 701.2 715.1 802.6 786.2 782.0
Et==312(g) 51. 86.1 102.6 79.7 96.9 113.6
Tl (g) 18.92 18.92 18.0 39.3 28.0 37.1 45.1 18.4
X (g) 30.8 21.6 20.8 36.5 23.5 25.6
HIEF2IA(Lg RAE) 162.05 229.13 140.5 123.7 218.4 119.9 175.2 65.5
El0H2! (mg) 0.31 0.37 0.8 0.9 0.8 0.7 1.1 0.2
22 Z2tE! (mg) 0.36 0.43 0.6 0.8 0.7 0.4 0.8 0.3
HIEF2IC(mg) 24.87 31.72 29.0 30.1 21.3 25.5 43.3 24.7
2& (mg) 242 .25 290.31 252.4 174.3 308.3 212.2 449.8 117.2
&2 (ng) 3.71 4.79 5.9 15.5 2.9 2.7 5.1 3.4
w oA = AAAFF £10%, A= BESE(55~65%) ¢ e (7~20%)  A(15~30%)
* 1gd oY A] (kcal)= ©3HE 4, @ilz 4, A kcal 2 FHAF
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A, 14.35, 15.9 a7, 16.5“417], 17.9.79], 18 5_711%(%, A, %%L X3, 19.%
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0328 252 (=) 032 262 (3}) 038 27 (=) 0328 282 (=) 032 202 (2)
S ISERIObRHEI B | - 12t S 1DEEz=oy - 1aet S1=atTetn
(5.6.13) -101=AgEE [(5.6.10) S ALIRARDI B2 | (1.2.5.6.10.12.13.
EIDUEP = (15) legsS2E [(2.6.9.13.15.17.18(18)
(5.6.9) -olRCERES |(1.2.5.6.9.12.13.1]) SEEUE=
= RO S (5.6.13) 7.18) S1=Z2H R (1.9) [(5.9)
) = (1.5.6.10.16.18) | - 1AMKIZ X0 |- 15242t S IHARES S AD =TI/ o
stulgs et - 1HES2H01(1.5) [ (2.5.6.10.12.15.16 | (1.5.6.7.9.18) (5.6.9.13.15) (2.5.6.10.12.13.18
BRTTEEIBE)) ) SR X2E REESIEC) )
CIHECEeC BTTEEIBE)) ZDASHZUE |- 120t0/A3 S =2XI(9)
(13) S1x2IZ4013 |(1.5.6.10.15.16.18|(1.2.4.5.6) - 15/ Q212 XH(5.6)
*(1.2.5.6) ) Sqezzonae
S E2XI(9) (2)
1272£(2)
o 2% | FEa
=P Forgy o orey gorey ooy o orey
ez | g3z | g3
0l 4 Xl (kcal ) 724.33 724.33 1.6 748.9 775.1 753.3 696.6 707.1
Et=312(9g) 53.1 119.5 81.0 109.2 74.3 103.0
CHEH Xl (g) 18.92 18.92 18.2 37.0 37.7 32.2 36.3 24.3
NEH ) 28.7 11.83 36.3 19.1 28.8 21.4
HIEF2IA(48 RAE) 162.05 229.13 206.3 145.4 361.3 104.9 314.7 105.2
EI0+2!(mg) 0.31 0.37 0.8 0.3 0.6 1.6 0.4 0.8
cl2Zetel(mg) 0.36 0.43 0.5 0.4 0.8 0.3 0.7 0.4
HIEHRIC(mg) 24.87 31.72 23.0 15.8 40.4 17.4 19.7 21.9
25 (mg) 242 .25 290.31 262.4 140.7 595.0 218.4 264 .1 93.7
&2 (mg) 3.71 4.79 3.4 4.3 3.1 4.5 2.9 2.0
U A = AFAAAZY £10%, A8l = ©@5sHE(55~65%) ¢ A (7~20%) X H(15~30%)
x 1gd oA (kcal) = ©3HE 4, il A 4 AW 9kcal = 32+
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